| dE/dx estimator 1 |

h_dedx_estim1

0.4F
0.35
0.3
0.25
0.2

0.15

...................................................................

Entries 110
Mean 3.22
Std Dev 0.2938

'h_de'dx_est'iml |
Entries 110
Mean 3.22
Stld Dev_ .0'2938

..............................................

Ratio

EEETEE e o

1 2 3 4 5 6 7 8 9 10
dE/dx, harm?2

| dE/dx estimator 2 |

h_dedx_estim2
U ST STV SO U SR S Entries 110
0'4: : -L : : ¢ | Mean 2.984
L ’ : | _Std Dev 0.2119
Ceeedeen i e ]
0.35 r : : : : : h_dedx_estim2
C : : : : i | Entries 110
0.3+ Mean 2.984
o : Std Dev 0.2119
O] e Eth S et T S S S S ey
02:_ ........................................................
S e et R S S IS ST S S
01__ ....................................................
] T i B e R
W PR P AU I AP T S PR PR N P
o0 .
= = :
4 C
x L
1__ .................................................................

1 2 3 4 5 6 7 8 9 10
dE/dx, trunc40

—=— DQM_V0001_R000000001__Global _mkFitbase RECO

| satl

016;
0.14f
0.12}
0.1
0.08f
aoe?
0.04f
0.02F

V4],

Ratio
F

=
i i sl A B B L

0.95%

..............................................................

o

10 20 30 40 50 60 70 80
dE/dx number of measurements

0.15

0.1

0.05

o+

Rati

1

—e— DQM_V0001_R000000001__Global __CMSSW_X_Y_Z_ RECO

1"|'1'1'1'1']'1'1'!'!"'!'!'['[

T

- ENtries 110 i T | ENUIES 110
: Mean 12.5 035% Mean 1.145
. [ Std Dev 2.739 A . [ Std Dev 1.086

........................................ h_dedx_nom1 03: h_dedx_satl
i | Entries 110 - i | Entries 110
* | Mean 12.5 I * | Mean 1.145
"""""""""""""""""""" [ std Dev 2.739 Q.25 -tk St Dev 1.086
(2 Rt SETEE TR TEEEERPR- TRRRRPRS:

09551620 30 40 50 60 70 80

dE/dx number of measurements with saturation



	Contents
	Page 1


